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QUESTION 1

Identify three roles and characteristics of application modules. 

A. An application module can be "nested" but cannot be "shared." 

B. An application module\\'s data model contains an active view of the entity objects and view objects that are required
for the task that the application module performsobjects and view objects. 

C. An application module can be reused in the business logic tiers of other applications. 

D. An application module keeps track of the changes that affect data in the database. 

E. All view objects in the application are eligible for inclusion in the application module\\'s data. 

F. An application module can contain multiple instances of the same view object. 

Correct Answer: BCD 

Reference: 

http://download.oracle.com/docs/cd/A97337_01/ias102_otn/buslog.102/bc4j/Glossary.h tm#application_module 

 

QUESTION 2

Which component stores application page changes In XML documents and merges the changes during the rendering of
the page? 

A. WebCenter Framework 

B. WebCenter Services 

C. Metadata Services 

D. WebCenter Spaces 

E. Portals 

Correct Answer: B 

 

QUESTION 3

Identify two ways to create a bounded task flow. 

A. by using the New Gallery 

B. by converting an unbounded task flow 

C. by adding task flow components to adfc-config.xml 

D. by extracting part of an existing task flow 
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E. by dragging a task flow component from the Component Palette 

Correct Answer: AD 

Reference: http://docs.oracle.com/cd/E12839_01/web.1111/b31974/taskflows.htm#BABICFBE 

 

QUESTION 4

You have a page containing all the Department items. It also includes a button to save the changes. What is the correct
expression language value you should have for the Action Listener Property? 

A. #{!bindings.Commit.execute) 

B. # {bindings. Commit.current Row} 

C. #{bindings.Commit.execute} 

D. #{bindings- Save.execute} 

E. # {bindings. Comnit. immediate} 

Correct Answer: C 

Reference: http://books.google.com.pk/books?id=TyLqw6i6BtYCandpg=PA432andlpg=PA432anddq=acti on+listener+pr
operty+%23%7Bbindings.Commit.execute%7Dandsource=blandots=PEDtbGuOmandsig=k38P4oDp1oiQzDYKFlF7ncz
AE1Aandhl=enandei=GmjBTtn5GsPKsgaCw8CeAwands
a=Xandoi=book_resultandct=resultandresnum=5andved=0CDgQ6AEwBA#v=onepageandqandf=false 

 

QUESTION 5

Your application contains a bounded task flow with four pages. The pages are all based on different application modules
and the task flow has the transaction property set to "Always Begin New Transaction and a commit operation is defined
as the return activity. The user makes some changes on each of the pages but a commit failure occurs on the bindings
in the third page. Which of these scenarios describes the outcome of this situation? 

A. None of the changes on any of the pages is committed all are rolled back. 

B. Pages one and two and four are committed; page three is not committed. 

C. The changes on the first two pages are committed; the changes on the last two pages are not committed. 

D. It depends on the value that has been set in the Transaction property on each application module. 

Correct Answer: C 
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